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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

10-

Working on the assembly line was ----——- work because I did the same thing hour after
hour.

1) efficacious 2) monotonous 3) momentous 4) erroneous

People are guilty of ——- when they make judgments before they know all of the facts.
1) illusion 2) arrogance 3) avarice 4) prejudice

Justin --——— himself from the embarrassing situation by pretending he had to make a
telephone call.

1) extricated 2} extracted 3) exposed 4) expelled

He was accused of manipulating the financial records to cover his ———-.

1) suspicion 2) scrutiny 3) fraud 4) paradox

Since the jungle was -———--, we had to find an alternate route to the village.

1) permanent 2) vulnerable 3) redundant 4) impenetrable
Management refused to ---———- the union’s demands, so a strike costly to both sides
occurred.

1) capitulate to 2) withdraw from  3) impose on 4) grump about

We had nothing in common, but despite our ----—— backgrounds and interests, my new
roommate and | became good friends by the end of the semester.

I) comprehensive  2) conscious 3) heterogencous  4) haphazard
Megan’s foreboding about going to class turned out to be ——-- as the instructor gave a
surprise test for which she was completely unprepared.

1) qualified 2) Justified 3) perplexed 4) wholehearted

If she had known how much of an --———— her student debt would be, she would have
found a different way to finance her education.

1) application 2) encumbrance 3) immunity 4) optimism

The mechanic examined the engine carefully but said he was not able to --------- the
cause of the problem.

1) pinpoint 2) derive 3) acquire 4) escalate

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fiis
each space. Then mark the correct choice on your answer sheet.

Horticulture has a very long history. The study and science of horticulture dates all the
way back to the times of Cyrus the Great of ancient Persia, and has been going on
(11) - . with present-day horticulturists such as Freeman 5. Howlett and Luther
Burbank, The practice of horticulture can be retraced for (12) -——-—--—- . The cultivation
of taro and yam in Papua New Guinea dates back (13) —-——- at least 69506440
cal BP. The origins of horticulture (14) --—-m——- in the transition of human
communities from nomadic hunter-gatherers to  sedentary  or  semi-sedentary
horticultural communities, (15) =-===eeamuus a variety of crops on a small scale around
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their dwellings or in specialized plots visited occasionally during migrations from one
area to the next.

11- 1) ever since 2) vet 3) that far 4) still
12- 1) many thousands yvears 2y many thousands of years
3) yvears of many thousands 4) many years of thousands
13- 1) from 2) for 3)in 4)to
14- 1) are laid 2) lay 3) lie 4) are lving
15- 1) cultivating 2) cultivated 3) that cultivated 4) to cultivate

Part C. Reading Comprehension

Directions: Read the folfowing three passages and choose the best choice (1), (2), (3) or (4).
Then mark it on your answer sheel.

PASSAGE 1:

A milk cooling tank, also known as a bulk tank or milk cooler, consists of an inner and
an outer tank. both made of high quality stainless steel. The space between the outer
tank and the mner tank 1s isolated with polyurethane foam. In case of a power failure
with an outside temperature of 30°C, the content of the tank will warm up only 1°C in
24 hours. To facilitate an adequate and rapid cooling of the entire content of a tank,
every tank is equipped with at least one agitator. Stirring the milk ensures that all milk
mside the tank 15 of the same temperature and that the milk stays homogeneouns. On
top of every closed milk cooling tank is a manhole of about 40 centimetres diameter.
This enables thorough cleaning and mspection of the mner tank if necessary. The
manhole is covered by a lid and sealed watertight with a rubber ring. Also on top are 2
or 3 small inlets. One 1s covered with an air-vent, the other(s) can be used to pump
milk into the tank. A milk cooling tank usually stands on 4. 6, or 8 adjustable legs. The
built-in tilt of the inner tank ensures that even the last drop of milk will eventually
flow to the outlet, At the bottom, every milk cooling tank has a threaded outlet, usually
mcluding a valve. All tanks have a thermometer, allowing for immediate inspection of
the inner temperature. Most tanks include an automatic cleaning system. Using hot and
cold water, an acid and/or alkaline cleaning fluid, a pump and a spray lance wall ¢lean
the inner tank, ensuring an hygienic inner environment each time the tank 1s emptied.

16- It is stated in the passage that ------ —_
1} agitators are added to the milk in cooling tanks for its flavour
2} polyurethane is wrapped around the outer tank to keep it cool
3} cooling tanks usually have a mechanism to clean themselves
4) the cooling tank should be warmed up at least 1°C in 24 hours

17- The passage mentions that the milk inside the cooling tank should be —-—-——-,
1) kept as a homgeneous liquid 2) treated with organic preservarives
3} kept an outside temperature of 30°C 4) used within 2 days of storage

18- The passage points (o the Fact that milk may be pumed into the tank Mrom —————--- .
1) a large rubber ring 2) the manhole on top
3) 2 or 3 small side inlets 4) more than one channel
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19-

20-

21-

22-

23-

According to the passage, ———— -

1) threaded outlet are placed on each side of the tank

2} there are two spray lances in the mner tank

3) a cooling tank can be put inside a fridge

4) cooling tanks are not of a fixed height

The word “thorough® in the passage (underlined) is closest to —-———- -

I} ‘complete’ 2) occasional’ 3) ‘planned’ 4) ‘regular’

PASSAGE 2:

A skid loader, skid-steer loader, or skidsteer, is a small, rigid-frame, engine-powered
machine with lift arms used to attach a wide variety of labor-saving tools or
attachments, Skidsteer loaders are tvpically four-wheel vehicles with the wheels
mechanically locked in synchronization on each side, and the left-side drive wheels
can be driven independently of the right-side drive wheels. The wheels typically have
no separate steering mechanism and hold a fixed straight alignment on the body of the
machine. By operating the left and right wheel pairs at different speeds, the machine
turns by skidding, or dragging its fixed-orientation wheels across the ground. The
extremely nigid frame and strong wheel bearings prevent the torsional forces caused by
this dragging motion from damaging the machine, Like tracked vehicles, the high
ground friction produced by skidsteers can nip up soft or fragile road surfaces. They
can be converted to low ground friction by using specially designed wheels such as the
Mecanum wheel. Skid-steer loaders are capable of zero-radius, "pirouette” turning,
which makes them extremely maneuverable and valuable for applications that require
a compact, agile loader. Skid-steer loaders are sometimes equipped with tracks in lieu
of the wheels and such a vehicle is known as a multi terrain loader. Unlike in a
conventional front loader. the lift arms in these machines are alongside the driver with
the pivot points behind the driver's shoulders. Because of the operator's proximity to
moving booms, early skid loaders were not as safe as conventional front loaders,
particularly during entry and exit of the operator. Modern skid loaders have fully
enclosed cabs and other features to protect the operator. Like other front loaders, it can
push material from one location to another, carry material in its bucket or load material
into a truck or trailer.

The passage points to the fact that -———-—--- -,

I') only the back wheels of skidsteers have a steering mechanism

2) skid-steer loaders may have from two to four large wheels

3) moving booms on a skid loader are at each other’s proximity

4) modem skidsteers are as safe as conventional front loaders

It is stated in the passage that —--————- =

1) front loaders can act as trucks or trailers carry with their buckets unattached
2) skid loaders turn if the left and right wheel pairs move at difference speeds
3) the lift arms in a skidsteer are set directly crossways in front of the driver

4) engine-powered machines should have a rather straight body alignment
According to the passage, skid loaders -————---

1) have one Mecanum wheel on each side 2) can llﬁ a weight equal to their weight
3) have an unbendable frame 4) need extremely powerful engines
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24-

25-

28-

The passage mentions that -——————-—- :

1) lift arms used to function in capacity of various labor-saving tools

2} agile loaders have a compact body with a lot of carrying ability

3) skidsteers may in fact need no radius across which they can turn

4) skidloaders’ front wheels are typically smaller than their back wheels
The term “in liew® in the passage (underlined) is closest to ——--—--———--

I} “in place’ 2) “on top’ 3) ‘underneath’ 4)° amund

PASSAGE 3:

A tedder is a machine used in haymaking. It is used after cufting and before
windrowing, and uses moving forks to aerate or *wuffle’ the hay and thus speed up the
process of hay-making. The use of a tedder allows the hay to dry (*cure’) better, which
results in improved aroma and color. The original tedder is a farm tool on two wheels
pulled by a horse: the rotation of the axle drives a gear which operates a number of
arms with wire tines or fingers at the lower ends. The tines pick up the hay and
disperse it; usually, the height at which the tines pick up the hay can be adjusted. In an
early. simple hay tedder described in 1852 and manufactured in Edinburgh. the two
wheels. via a spur wheel and a pinion, drive a set of light wheels, the "rake wheels"; on
these two rake wheels are mounted eight rakes, which pick up and disperse the hay. A
later “English hay-tedder’ uses two separate cylinders with rotating forks that can be
reversed to lay the hay down lightly for improved exposure to air. The tedder’s
development was of great importance to agriculture, since 1t saved labor and thus
money: using a tedder. a man and a horse could do as much work as fifieen laborers. It
also resulted in greater economy, since cut grass could be turned into hay the same day
even if it had become wet or been tframpled by horses and before its nutritional value
could be reduced by repeated soaking from rain. Especially in humid areas, the
invention of the tedder added greatly to improved hay production from such crops as
alfalta and clover, and allowed for haying while the grass was still green which
produced hay of much higher value.

The passage mentions that ------—----- 2

1) hay repeatedly soaked in rain will have less nutritional value

2) rotating forks of English hay-tedder have two separate cylinders
3) hay tedders were first manufactured in Edinburgh in 1852

4) early hay tedders had only one wheel with two large pinions

The passage points to the fact that -——--—---- —_

1) large early tedders needed up to fifteen laborers to operate them
2) haying crops such as alfalfa and clover needs little exposure to air
3) the rake wheels on modern tedders are mounted on eight rakes

4) tedder made haying possible even when the grass was green

It is stated in the passage that in the originial tedder ----——---—--
1) the spur wheel was connected to a pimon and pu]led by a hﬂri‘.e
2) height of “fingers” at the lower ends of the ‘arms’ were not fixed
3) ‘rake wheels” were placed diagonally across a set of light wheels
4) rotating forks could not have been reversed to lay the hay down
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29-  According to the passage, ——— _———
1) grass must turn into hay shortly after it is cut
2) most lasts for almost two day after haying
3) cured hay has a better aroma and colour
4) high-value hay 1s best produced 1n wet weather
30- The word “disperse’ in the passage (underlined) is closest to -———---—— ;
I} ‘compact’ 2) “heap’ 3) “scatter’ 4) *combine’
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